(<FLl]
THTESA LPAR— &

—RHEBRI(CSE) A
EXHE FRER EEMEEM Bl E kA
0~ 5m 781.0 A/m
2,100 M 51 ~ 20m 685.0 F/m 0 =
201m ~ 6400 F/m
LPAREREIZLKSHEEH(ZSE) @A)
EA=E B o=
5m 6,005 M
10 m 9,430 M
20 m 16,280 M

X BEANEHRENE (EAEXRENEEM RENE=BADHANE

(f5) LPAH R15M{EFABDIES
- A R - HEAHES 2100 H+ HEHES ¥ 10755 M+ BEHES 0m= 12855

X1 10,755 H = 5m x 7810 M + 10m X 6850 M

) FHFEARE 3.8 mEAKDES
- A R - HEAHES 2100 H+ HEHES X 2068 M+ HEES 0H= 5068
K1 2968 H = 38 mx 781 H

OLPHREEDEHAIZDUNT
B2 (X, LPAREEDOERILER S0, [RHEREFEI(RHEBOEHIE L THESEMERAR
FHHE)EEALTLET,

KIBERPE L]
LPARDCHAAGTLEACTH(HERFEE - ERARE - BRHES) TEH LW EHETY,

XIEERELE)
LPAROCHEAZICKHLTE X LW =1L TT,

XIEREHE L]
LPARHEEICAVNSRIETHO T, BERICTRIBOEHETYT , CEHURRICEKYVELYET,

@ VITATONDEREHRETS
BUATE. BEFRO-—XIZEOEHRAGNETIVECABLTEYET,

- WHET IV (A RBERHAOEER)

- BRIV (BERBCHAOEER)

X LT, BELDBEH/IAVITATONRVRFRASEEE TS,

A

A



	当月（守山）

